1. Add 20 minutes to this time.

2.70-4=
3. Draw an ellipse.

4203203 =1( x 3)+ (3 x 3)

= 9

5 42km=Ll2m [lawom
[ 4020m [ 4200 m

6. Round 3615 to the nearest thousand.
7.A _—mm B

Measure the length of AB in cm. cm

8. What type of triangle is this? i j

9. 4=
10. 50 + 80 =

A8+ Y=
12.38+6= r
13. Thisisanetofa (an):
[ cupe.
open box. | il
[ diamond.

(Write as a decimal,)

14.1-01=
15. What is the date one week before 7 October?

16. At a price of 40c per apple,
what will you pay for 8 apples?

17. How many internal angles in an octagon?

18. What is the perimeter? 12¢m

L]
(Not to scale) Pt i

19. %o=04,%=08, %o =12, %, =

20. Write a number sentence to solve this problem:
There are 3 buckets, each holding 12 golf balls. How
many golf balls altogether?
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1. Add one-third of an hour
to this time.

208 g

3. $10.00-$8.70 =

4.62ky=l620g [le2g
60209 [le200g

5. Double 195.

6. 15, ,09,06,03

7. Round 6515 to the nearest thousand.
8. Show as a ¥, turn.

B

9. Alicia paid $10.00 for 4 kg of tasty potatoes, what is
the cost per kg?

10. This is a net of a

Favourite colours

11. Read the pie graph
and calculate the
amount for green.

12. The year 2008 was a leap year. On this time line,
complete the other leap years.

< >

T T
2008 2016

13. Draw the 3rd line of symmetry of this equilateral
triangle. 1

14, What will be the date one week after 24 April?

15. What is the area of this 3 x 3 grid?

squares
16. 45>38 [ tue [ lfalse

17. (Roman numeral) XXXVII =
18. 41+ 9= r
190+ 7=
20.09+0.1=
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Add 20 minutes to this time. <

. Write the numeral one thousand and ten.

N27.28.29

4. What will be the date one week before 7 August?

({=]

10.

11.
12.

13.

14,

15,
16.

i1/

1

19.
. Share $20.00 equally among 8 students.

2

o

o

Thisis a Ej
10—
72t= 17200k  [72kg
[ 1720kg [ 1702 kg

. What type of triangle is this? ,:

. 5.3 rounded to the nearest whole number is 5, so

7.4 rounded to the nearest whole number is
84 x4 =(80x4)+( x 4)
= +16

30 + 6000 + 700 + 7 =
Tick the two shapes that are congruent.

e Bl

November occurs in which season?

80+7+8=
23+ =23
What is the area of this 4 by 3 grid?

squares

What is the easier way of calculating the above area
than counting all the squares?

What was the year one century ago?

0.6+0.4=

$ each
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. Add one-third of an hour. >

2. Measure the length of ABC.
A B

c/

cm
3. This triangle is a

h

Favourite pet
names

Toughie
100
\E[2Y

4. Read the pie graph and
calculate how many people
favour Daisy as a name?

Do as many people favour B.J.

as they do Daisy?
yes LI no
5.73-8=
6.52m=152mm  [lso2mm
L1520mm 15200 mm
7. ,9.9,9.7,95,93
8. Round 8.7 to the nearest whole number.

©

In which season does January occur?

10. Thisis a net for a
&

110 =08=

12. How many internal angles are in a hexagon?
13.93>88 [ltue [ zaie
14. What is the perimeter? (Not to scalg) 13cm
4 cm
15. Using 7, 8, 4 and 8, write
the greatest number possible.
6. What is the area of a 7 by 4 grid?

—_

squares
17.8+8+8+8=
18. 0.5+ 05=

19. 103+ 10=

20. 71 + — 7
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